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Math 5/4, Math 6/5, Math 7/6, Math 8/7, and Algebra 1/2

Math 5/4, Math 6/5, Math 7/6, Math 8/7, and Algebra % form a series of courses to move
students from primary grades to algebra. Each course contains a series of daily lessons
covering all areas of general math. Each lesson presents a small portion of math content
(called an increment) that builds on prior knowledge and understanding.

Students are not required or expected to grasp a concept fully the first time it is presented.
After an increment is introduced, it becomes a part of the student’s daily work for the rest
of the year. Students will have many opportunities to gain understanding and to achieve
mastery. This cumulative, continual practice ensures that students will retain what they
have learned.

This sampler includes materials that are representative of the Saxon math program,
including samples of Lessons and Investigations.

We hope these materials will assist you in your evaluation of the Saxon program.
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Algebra %2, Lesson 59
Sample taken from Algebra % (Third Edition), page 189

LESSON 59 Proportions with Fractions

There 15 no change in the meibod of sedving comditional propocions when they contain
(ractions o mixed numbers. The At step is toocross muluply. Thes we divide or maltiply
as required o complete the solution

z

axample 59,1 Sobe

=l

salufiar  As the firs step, we cross muliiply

2 1 5 ne b
— = = e CTOES mManlimen
1 ki 5
i [
= —r sumplitesd
is =

We finish by multiplying hath sidas by §,

4 4 &
i = == - 'E 1Eii ||_||"\-||-'|_| hioth skles by —
£ 12 & & 3

— = x simplified

75




Algebra %2, Lesson 59

Sample taken from Algebra % (Third Edition), page 190

gxarmpla 592 Solve;

B || -
1
| b =

solulion  Axihe fora ship, we arass muliiphy

cross ikl lpleed

| ba L | bl
B | =

r= — simplified

We himish Ry waltipiying botl sides by 3

practice  =olve

problem set 1.
59

'
fihi

& 2 I =
= -a_.l. i rniltiplesl both sides by ;
q
L= i'l simpdified
i I |
2 _4 v
I =3 S B
E 3 L
| 1 |
- 2
T .3
X i 7

k]

Tha HYCraEs of the Tist three rmibisrs was A1, The AT of the next seven nisbhers
was aanly 12 What was the average of all ten nambers?

Seven My rmes cost S2E0,000. Widte the 1o rales {ratios) implied by this satemen,
Howar many big oies coubd be parchased Gor § 0200007

The first one weighed one hundred fooy dowsand, twenty-siz peunds, The second
wisighed only one hundred thirty-two thoosand, seven bondred sighty-oae poutsds, The
first one weighed low nsany pounds more than the secoixd one?

Carobyn could walk 10 miles in 3 howrs.
fah What was her spesd?
i} Howt Bong would it take ber v walk 25 miles ol the sane speed?

Complese the table. Begin by inseriing

- E Fracr x- iy 1 —_—
the referenc: numbers ACTIH Decidal | PemcesT

@ i) |o1em

(el i }

S

(] Write D09 in scientific notation
ih) Wrlte 12 % 10% in sandard postion.




Algebra %2, Lesson 59
Sample taken from Algebra % (Third Edition), page 191

Mine t=nths of whal nusshar & 727

o
B What fraction of 6 is 837 ?. Whal decimal part of 630 i% 4457
154 il

10, Tight ased cee fourth ol whal nimnber s 757

‘5

11, Ome pnd ane fourth of 35 is whal nemiber?

12 What is the volume of o fght solid whess bae as the g shown on the lefi
anid whiose height i 4 mches? Dimeisons ang i inches,

. ,_____I:iH ..
45

I:'?-' (nd What & 1% of 141Y
s

th Whan i 45% of 1927

14, Fiad the safbee area of  this
© o rectangular solid, Trimensians s o
MeLsrs

-]
Halve:
| i '
b 1k K] s
. - 6. = = =
Lo ! A
4 5 12
e 16 3 : ;o=
i S - 5 - q
Simplify: ) . . .
19, 49 - 2f(s - %) 4 2 - 3 2, Y& + 2Y2%(2F - 5) - 4]
4l (L] - g
i [ i 2 7 1]
T Fem - = 2. (4= - 12 -
iR R an 3 4K
23, 1716 = 0007 24, 117081 - 1334
(e [*1]
31 i ! 5
4s  B1U51 i% llf 5 T
A 003 IETR e i
2
TA RS P i
7, _l; - =]+ 2 B —
i 5L 4 B & #h 7 L
4
L ]
ISR LEPREY SNy S
i 4 3 4 B

M. Fvaloole: xf = .?l\.l.j':: + 3.!:2} + ¥* ifx =1 ol ¥ m 2
i




Algebra %, Lesson 75

Sample taken from Algebra % (Third Edition), page 237

LESSON 75

cedample 751

sofubon

Implied Ratios

Remeanber that & rlio is 2 comparizon of two numbers, Ratios gre ofien wrilken inthe farm
of frctions. Remember alse that g propartion s 2 si2tement il lwo ralies are egual. These
are oyual ratios

i 9

4 12
The equation is called & propontion. Many rate woed problems do nog acoally use the wosd
radin, When o rend the prohlesm, we must recoprize that the problens is s radio problem. We
st alsn be able o peck el the inaplied cotéo.

It imkes 25 cpgs o make 140 cookics. fenny wands 1o make 1680 cookics, How many epps
does she nesd?

Thes problem g a rols problem aboul eges amd cookoee We decade o put epps o the
EUEC AL

5 =

o0
The firs seséence in the problem gives us the implied ratio, [E1ells as thal the mtie of 2pgEs
by comakies s 1_: Loy D40, We make the subslilul:a.

1
2

2.k
46 C




Algebra %, Lesson 75

Sample taken from Algebra % (Third Edition), page 238

axampe 75.2

Saigfion

practice

problem set
75

lenny wanis i0 make 1680 copkies, 2o we use M3 for O and solve for E

1
~f

2 £
e Y e, subsipimed
140 1680 o
5 o
I 168 = 140K crss multiplied
40 = 140E aumiplified
= E divided bl sides by 140

Jenay needs 30 egas 1o make 1AR0 enakies

It 1zkas 1 tans of fertilizer o fentilize 170 aores. Famier Browis waits oo ferulize TR acmes
Hive many eons of Terlilzer does Farmer Brown nesd T

This priklern concerms ruios of sons and pores. We decde 10 pulons i the vameratar,

T ) r

A A

The firss semence fik the prollem gives w the implisd ratie. I says thal the reio of wns w
ncres is 3 to 170, We substioons ilese pombess o the el On the right we subsGate |87 for
A Then we salve for T

i T p
—_— T — subslitwted
LRt L&
3 - 187 = 707 crpis imieliplaed
5410 = 70T simplified
B=T divicksd buth sides by 170

Farmer Brown neecds A2 tons of Fertilizer 1o ferilize 1A acres,

A, The baker found that it took 4 hupe messures of sugar 1o make §3 confections. The
baker nooded 10 mike 143 comfeclions. How many hoge oessures of supar
were nesded?

“1__. The reoeips for the day oinked 33200, This was only three fifths of e money peeded
* o pay the bills, How much money was pecded 1o pay the bills?

Eisel trarveled dhe 350 miles from the faciory io b River Rouge plam i T housa, The
neslday be was in o burry Lo retum, B be oust complete the g back to e factory i
5 houga, what should be his spead?

Hra

A The rase of bebewers 1 doubders al the meeting was B o 3 IF 2400 of dwose in
atendance were believiers, how ity dozbiers were present 7

‘1-.: Four fifths of the bees were pot in the hive, 1§ 1350 bass were in the hive, how many
wieTe ol ko e have?

5. Corey needs 1o develap 5 rofls of filim, The maching takes M0 seconds to develop 2 rells
o filme. How bong will it take Corey (o develop ihe 5 rallsT

6. Jonathon uses 7 sticks of vine charcoal for ewvery 3 drawinge he creatss. How many
drawings can be creats with 23 sticks?

7. Twenty-live percent of the apariment complexes in Morman allow pets. Tf 25 apartment
camplexes allow pets, how many apamment complexes are there 16 MNooman? Draw a
dizgram io help solve the problem.




Algebra %, Lesson 75
Sample taken from Algebra % (Third Edition), page 239

8, Simiy-live s what percent of 3257
)

Ciragh 0 3 murnbeey lime:

L
{3
W, =12l
iyt

1. I:I}‘I"FIICI.: the tahle. Begin by inserting
115

> Fracrion | DECIMAL | PERCENT
the reference numbers - s

{n | a7l |m

12, Wrile 26,500 000 CCED i seeeptilie i alson.

3

13 ‘Whal decimal part of 790 4747

Uiz the following figares far problems 14 and 15, Dimesstans are in yards,

B

14. Find n) the perimeter and (b the aeea of ihe figere on e b,

jadi

15 What is the volame in cehic vards of 2 right solid wlsoss bete 15 e Tigare shown on
] r i L

" the Jef and whase sides are 4 Teettall? Round w0 two decimal places

16 Find the surface area of & dphll crewlar eylinder swheae madiog 5 4 cenimetess and

[pil]

whose heaight 5 % cenlimebars

17, Use two anil maltipliers 1o convert 1000 imches o mibes. Roand any decimals o
[FLT

tweis places
Simplife:
s d I
rj-\l | f
= 19 d—
Ius'- l\ 5 e 427
s ] 33 | 81
|- ] P
[ ||“§,JI 7 I'! 256
22 10+ Y3212 + 22U + 1) 2, S+ 046414
T | ] 174
a8 “2 5| ]3 " |
. =30 + 14 4 -1 + 17 - = — 5= 1= + 10—
1 L = pr 1 4
' i 712
T _ll\!'g ke '|L . 8 3 657.12
4l 3 L o .00




Algebra %, Lesson 75
Sample taken from Algebra % (Third Edition), page 240

S

ST | |

. ,
IH. : M, E=y 2 = 4
LT m a4 2

]

ME Which is a bewer deal: 3 dingoes for $57 or 5 dingoes for 399,507




Algebra %2, Lesson 105
Sample taken from Algebra % (Third Edition), page 326

LESSON 105 Evaluating Powers of Negative Bases

Let's examine the following expressions

o o]
(1] P ind {h} —x*

In expression {n) x is squaned, [ we sobstitaue -2 for x, we must square

this meana
o
-2

Modice 1bat we insesied parcsilzacs in ilds exprossion o podect the ne
capression (2] kells us o meliply 5 by 2 If © = =L,

= (=2}=1) = 44

ive sign. Thas,

Expression {hi tzlls ws o find the oppasiie of the value of 1%, [F we substitue =2 foe & in (513

we need b find the appoaite of (=23

(-1 = {=2)i=) = =4

Ther: s an ey way o remember if the minus sign is incheded inthe base of the expones.
il the gyminl - w o protected by parentheses, cover i8 with a finger. To smplify

s

Wi SOl The pnanes sien walle a fimager,

Tlee value af 2% 16 16, Mow we renmove o Tinger and uncover the mines sign and see thad

the Linal remall is naputiva.

—If5

example 1051 BEvaluate: (a) =37 (b —37

solufon 11 we Ly 40 Cover e maivas zign with o lisger, wae Dmd hal the manas sign s protecied by

the poieivibsca i Gl bl b in (k)

mp - 1
Sof .‘.-_l: ming (=3ij(=3], and 3 means ~[235)
fat =3y = 9 i -3t = -y

gxample 1052 Evaluale: {20 o ih) -a® ifa=-4

sofution (o) We first wrile paresibieses where we will brsest the vaboe for o,

l ]"L

Tleen we write —d4 inside i parentheses and simplaly.

41" = 16
b} Thos ime we begim by writing

- P

Then we write —4 inside the parentheses and sinplify,

A = =16

10




Algebra %2, Lesson 105

Sample taken from Algebra % (Third Edition), page 327

example 105,23

salufian

practice

problem set
105

Evaluate: a° ab? — Bt ife ==2 aml r = -3
Parentheses are nod absoluiely necessary, bat we will nse then 1o Bedp s with the second
lera. We swhstituie anl 2e1
-2 - (~20-3F - P
We simplely this snd ger
4= (0=3F -0 sumplified
b [=18]} 4 maltipleed

4 4 J8 -9 sumplifiee
13 ackled

Evalule

B oath - b ifla=-2ad b w -]
Iy, b= :I.'Ib ifa = -2 and b = =3

L. S thereenths of the sudiephiles could discriminate belween the wo procucta. [ 28 al

[T} : ..
I the ausdiophiles could nol discominge, how maay coukl diseriminsie?
5— Sim seventls of the party delegales were proclaiming their positions. TF | 10 were po
irvalvad i il behnvior, hiow many deldepales were thore in all?
A The ratio of the contensscious o the affable was 2 o 1T, 1T there were 7600, all of
A Y . - . ']
wham were cither comumacions or affable, bow many were conbumacious 2nd how
mamy were affabls?
ok B stwdied froin My chinactesistics Toe her genetics experiment, One in 4 had white
e < . N
: ey Lhe semainder had red eyes. Theie were 845 fies in ihis genesation. How many
flics had red eyes?
mf. Seven Umes a tunber s 9 less than the prodec of the nussher and -20 Whast is
LA

sz nuinber?

6, Cawain and Lancebot deove their horses through the pousding mim and covared
16 miless i 2 hawers, Whn ghe rin stopped, they slowed w balf thal pacs. How leng did
il take tbeny o travel the reimarning 20 miles?

Twendy percent clos: Plaim Venilla and five percent chose Bublle Gane Delight. IF
Lweniy-eiphl sebected Plain Vanslla, how many fancied Bubble Gum Delspla?

Ho o L% a5 increased by B0 percent, whal is the resulting pamber®
9, What porcent of 60 is 787

1l Fand the wolume of the rght solid whose base is shovwn on the lefl and whass height is
2 meters. Dimensions ans in melors.

"\.ll\I F.l
4 ) gL |
4 "“x
u L]
12

11




Algebra %2, Lesson 105
Sample taken from Algebra % (Third Edition), page 328

11, Fund the laseral surface arca of the solidd in protliem 10
iy

12, Between which v consecutive integers is 305 7
1]

I"} Fund the messies of 24 amd 28, aivd A
M sty AABC by HE sides and by its

anghes \\

o =}
Use the digteibutive propeny to muliply
14, _‘.I|:-_|.'|:_|:- kK 4 2pr) 15 ﬂlri':{.'.'l + sy + _1..1'2:]
fialy ran
Simplily by adifing like ienns:
16, mfn® 4 Snntng - mmue = 2w
dry
17, -;.|'|'.l'I 4 _|.~;.|-|'.l! - "|_|.l'!|r|"
fr
_IE_. What is the value ol Iy < (1) r] when 2x + 5 = BAY
Kulve
19, 5¢ — 4 = <% 4+ 20+ My - 1}
VS,
M, 3 - 4 L= iy + 7 % 2Zx + 5[] - 1)
1, T
2 11
3, i - 13
'm.l:l: P | K
2
Simplify:
22, -] + -ni-4 21 aptapiataa
s A
£2, g 2l - opas
E_‘.-Iil: ¥ NIRRT .2;_74 e Al
Evaloare:
iy m;_'__r_l'_ ifm=-~8 and m = 4
L] m
7, p et i p =3 and = -l
£
a .
8. —a la=4md b = -
Subl _r..,"
1& plefip if po=d aml g =2
M. Skeich a rectangualar coordinale system, and graph the lme ¥ = 1;: =1
L1

100
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